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1; Answer the followlng questhns (within 50 words
each): . A 2x4-g
(2) Define populasiey, pyramid.
(b) What do yo U mean by complete and abridge
life tabje
(©) What is 4 healthcare s«’:l'Vice ?

(d) How the Concept of - Pareto optlmahty
. condition g related to economics of
education 9

[Tumn over




2. Answer the .following. questions (within 150 :

‘words each) :- L 5x4=20

(a) Distinguish between preventive check and

positive check of the Malthys;

an theory of
_population. o

(b) Can - fertility levels of. two regions ' be
compared on the basis. of Cryde Birth Rate ?
Give reasons.

" (c) State the important iy

human capital of an. economy,

(d) Briefly analyse the major hyrgies iy public
health delivery system, ,

,Briéﬂy* answer any ftwo

" f the following
questions: :

| ©10x2=20

(a) What is population ceng;g o Why is
population census importans o py;cinovish
between De facto and’

d' De Jure method of
conducting a census, 243=5

(b) In what way do Tota] Fertility Rate (TFR),

Gross Reproduction Rate (GRR) and Net
Reproduction Rate (NRR) differ from one
anothef as & MEASIe of Reprodyctjon ? Can
they be look as a ingjeq .of Population
growth. : * '
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ways of developing

(¢) Critically evaluate the contribution of

-education to - economic growth .and

- development in the light -of ‘residual factor .
approach’, ,

~ (d) How can the ﬁnancing‘ systems of education

- are directed to epsure greater equity’ ?
Explain. , '

4. Answer the following questions :  16x2=32
o (@) () What are the different demographic

stages as expounded ln the theory of
Demographic Transition ? Has .the
Sxperience of developing FIHCS
especially since the early sixties been in
line with the tenets of the theory ?
Ilustrate your answer with the Indian N
€Xperience. 8+8=16

Or
- (i) Explain the different approaches to
. measure the Infant Mortality Rate.
On the bagis of the data given below, -
compute . standardized death r.ate‘ for
Population B, by both direct and indirect
methods, using population A as the
standard population. 8+8=16
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